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: ÐAtF±�

𝑀.𝑆𝐸𝑁𝑁𝑂𝑈𝑅

:  � ��rt�A� �y� (𝑎) /2
(∀𝑥 ∈ R) (∀𝑛 ∈ N) 𝑓(𝑛𝑥) = 𝑛𝑓(𝑥)

∀𝑥 ∈ R ∀𝑛 ∈ Z 𝑓(𝑛𝑥) = 𝑛𝑓(𝑥) :  � �y� (𝑏)
∀𝑟 ∈ Q 𝑓(𝑟𝑥) = 𝑟𝑓(𝑥) :  � �y� (𝑐)

∃𝑎 ∈ R ∀𝑥 ∈ Q 𝑓(𝑥) = 𝑎𝑥 :  � ��ntF� /3

: 6 �§rm�

𝛼 > 1 : �y�� 𝑥 +
1
𝑥

= 3 T� A`ml� ®� 𝛼 �ky�

:  � �y�

(∀𝑛 ∈ N*) 𝛼𝑛+1+
1

𝛼𝑛+1 = 3(𝛼𝑛+
1

𝛼𝑛
)−(𝛼𝑛−1+

1
𝛼𝑛−1 )

(∀𝑛 ∈ N*) 𝛼𝑛 +
1

𝛼𝑛
∈ N :  � ��ntF�

: 7 �§rm�

:  � �y�

(∀𝑎, 𝑏 ∈ R*)
𝑎2

𝑏2 +
𝑏2

𝑎2 + 3 ≥ 2(
𝑎

𝑏
+

𝑏

𝑎
)

: 8 �§rm�

: �y�� Q �� 𝑑 ¤ 𝑐 ¤ 𝑏 ¤ 𝑎 ¤ R �� 𝑥 �ky�

𝑎𝑑 − 𝑏𝑐 ̸= 0 ¤ 𝑥 /∈ Q
𝑎𝑥 + 𝑏

𝑐𝑥 + 𝑑
/∈ Q :  � �y�

: 9 �§rm�

:  � �y�

(∀𝑥 ∈ R*
+)

√
𝑥 + 1 −

√
𝑥 <

1
2

√
𝑥

<
√

𝑥 −
√

𝑥 − 1

: 10 �§rm�

:  � �y�

/1

∀(𝑎, 𝑏, 𝑐) ∈ R3 | 𝑎 − 𝑏 |≤ 𝑐 ¤ | 𝑎 + 𝑏 |≤ 𝑐 =⇒ | 𝑎𝑏 |≤
𝑐2

2
| 𝑏 |< 1 ¤ | 𝑎 |< 1 =⇒ | 𝑎 + 𝑏 |<| 1 + 𝑎𝑏 | /2

∀(𝑎, 𝑏) ∈ R2

: 11 �§rm�

:  � �y� N �� 𝑛 �ky�

(∀𝑘 ≥ 1) 𝑛𝑘 + 𝑘.𝑛𝑘−1 ≤ (𝑛 + 1)𝑘

: 1 �§rm�

∀𝑥, 𝑦 ∈ R 𝑥2 + 𝑦2 ≥
1
2

(𝑥 + 𝑦)2
:  � �y� /1

𝑎 + 𝑏 = 2 : �y�� �yqyq� �§ d� 𝑏 ¤ 𝑎 �ky� /2
𝑎4 + 𝑏4 ≥ 2 :  � �y�

: 2 �§rm�

:  � ��rt�A� �y� /1
(∀𝑛 ∈ N) ∃(𝑎𝑛, 𝑏𝑛) ∈ N2 (2 +

√
3)𝑛 = 𝑎𝑛 + 𝑏𝑛

√
3

(2 −
√

3)𝑛 = 𝑎𝑛 − 𝑏𝑛

√
3 ¤

(∀𝑛 ∈ N) (2+
√

3)𝑛+(2−
√

3)𝑛 ∈ 2.N :  � ��ntF� /2
( Ty�¤z��  �d�±� T�wm�� ¨¡ : 2N )

: 3 �§rm�

:  � ��rt�A� �y�

(∀𝑛 ∈ N*)
𝑛∑︁

𝑘=1

1
𝑘(𝑘 + 1)(𝑘 + 2)

=
𝑛(𝑛 + 3)

4(𝑛 + 1)(𝑛 + 2)
/1

(∀𝑛 ∈ N*) 12 +32 +...+(2𝑛−1)2 =
𝑛

3
(4𝑛2 −1) /2

(∀𝑛 ∈ N*)
𝑛∑︁

𝑖=1

1
(2𝑖 − 1)(2𝑖 + 1)

=
𝑛

2𝑛 + 1
/3

(∀𝑛 ∈ N) 1−
1
2

+
1
4

+...+
(−1)𝑛

2𝑛
=

2
3

(1−(
−1
2

)𝑛+1) /4
(∀𝑛 ∈ N) 1 + 3 + 5 + ... + (2𝑛 + 1) = (𝑛 + 1)2 /5

(∀𝑛 ∈ N*)
𝑗=𝑛∑︁
𝑗=1

(2𝑗 − 1)3 = 𝑛2(2𝑛2 − 1) /6

(∀𝑛 ∈ N*)
𝑛∑︁

𝑘=1

𝑘.𝑘! = (𝑛 + 1)! − 1 /7

∀𝑛 ≥ 2 𝑛! ≤ (
𝑛 + 1

2
)𝑛 /8

(∀𝑛 ∈ N*)
1

1 × 2... × 𝑛
≤

1
2𝑛−1 /9

: 4 �§rm�

. Tyqyq�  �d�� 𝑧 ¤ 𝑦 ¤ 𝑥 �kt�

𝑐 = 𝑧 +
1
𝑥

¤ 𝑏 = 𝑦 +
1
𝑧

¤ 𝑎 = 𝑥 +
1
𝑦

: �S�

𝑎 ≥ 𝑏 ≥ 𝑐  � ¤ A`W� Tb�w�  �d�� 𝑧 ¤ 𝑦 ¤ 𝑥 :  � |rtf� ¤

𝑎 ≥ 2 :  � �y�

: 5 �§rm�

: �y�� R w�� R �� T�r`� T�� 𝑓 �kt�

∀𝑥, 𝑦 ∈ R 𝑓(𝑥 + 𝑦) = 𝑓(𝑥) + 𝑓(𝑦)
. T§Ðr� 𝑓  � ¤ 𝑓(0) = 0  � �y� /1
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